(3)

o B IR 2T = 2 — TR B

HEIAER R R

P2 H6 AR —)’(— & AR AT

(1 =423 R km)

77k/6 73k/8 59k/1 40k/8 26k/3 14k/2 0k/0
M & A IY [ = RE DS Papet i R[5 Hh A R 7 1
U Lkm{sF T [EEaA| et i R700mfS AT 3 Lkmfs 3T
(EEVEIPA 1 1) (EEYEEPA 1 0) (VEBhEIPHE 6 ) (EEYHEPA 5) (EEYEIFH 4)
HALL - ZBPRTHIX FIE - T HIX Fa[3z + TTSGT Hi X Tpk - HE - EARITHIX BEAENT - S THAL X
3. 8km 14. 7km 18. 3km 14. 5km 12. 1km 14. 2km
ey
R L
8]
7. 6km 10. 9km 9. Okm 9. 2km 12. 9km 13. 6 km 14. 4km
WAL LHTHIX HH - HDGHT X SR T Hi1 X LI = 1] 5T Hi X WG S5« A0 T Hi X I T P L X
(EENEPE 9) (& HiPH 8) (EEhELFE 7) (IEEYEIFH 3) (IEEhELPHE 2) (EEYHEEA 1)
& A SR H DN 9 [E = BB D4R EH LG A A JI K AG FHEE 7 1
T Lkm < 3T P P T Lkm 3T EHE700m T3
77k/6 70k/0 59k/1 50k/1 40k/9 28k/0 14k/4 0k/0

) S AR —)’(— WG I8 R AT

HEIERE Y HIRET
— 1 —

(1 220 A km)



IF 35 2711« A G010 )1 52 5 - = & — {% B i e

HYHERT BB HIERT
E A2 1844 B A A km

11,/2 0
(JEEh#EPH 1 3)

107 B )1 T H X

11. 2km
e )

A& — JE K
= m

(JEEh#EPH 1 3)
YA ~ WO

24,1
(JSEhHBE 1 2)
(H 75 55 1] | 3 b X
12. 9km
%
+ JI
hii b HEHEF — VA
! &

(LB 1 2)
M~ =Y 5

(EEHFIDH 1 4)
=YV AR~

Hi A )
Ag) - n g
(=5 m]
(JSEhHEEE 1 4)
g1 Hh X
11. 2km
11,/2 0

[ 422 8 A B EEAR k m





